[ B gABVIBDY ©¢EDEOBTRD BDSHED - 8378 B3

} A

@¢O® Dadws - B> 3fes gwsiesw 4
} [ B - 32 ]

wg®- W.K.K.D &Feme
(/08 DedBNEed) HBED BesoEw)

J

1. (a) y=x*>-3 §nod ygedmidw 800 8BewE mg anw Dndm sum qied.

X -3 -2 -1 0 1 2 3
Y 6 1 -3 -2 1 6
. X=-10» 80y 8 gow ewwsIm.
Il.  yedmc mBBw @5 ety 88 remwm gus §ned yumIdw
a@8sin.
. gedmoced argedsy vid® csed dedthome Swsim.
V. gedmode aggecst X*—3 =08 gc ecvesis.

(b) (0,2) 0 (2,8) cfewsy v ws 83OE @810 @St 8w ¢TI,

290 & a5 ® 8= 28> — 52— 3 =0 cAren v
DD easIDsIn.

2. (@) 4 =2-3
a+1 a

(b) 282 -5a—3 =0 e38mSenws Bes@e®xT a e eewss eem CEAD DO
eu5IOBIB).



(3)

(8) eE ed¢ ©¥3» PsEmIBIGD PEWOD) E¢ WY VENB eBE
OreBwm 8o 3M , 8cE 2M ¢, ¢ 1.5M ¢ 00.88 5900 Eod 300 » BesmodwB sy
o 00 Hw3BTeny »H® DeBewsy ¥3 &t e VBOD PVHOL WICW BB
Rwe ?

(b) 29D ©I18m0 > BEDS eveswesID

¢o m 20 40 60 80 100

OEW S 10 20 30 40 50

1) 9wm 085w @@ ¢O-mE yEmdw adxIv.
I1) yedmcded emnm®ens eiwesis
) 9wm 0dowBsy 8B Frn 10 & 0®sy mom ¢6 ewiwsIm.

V) 9wn edonewsy 0.5 KM = 0@z BBOO 0502 mEe @nsIs)



